9. A factory produced 3,156 computers in a day. If each box
contains 6 computers, how many boxes can be made from the total
production?

Answer:

10. A store has 5,480 bags of rice to distribute to 8 stores. If they
want to give each store an equal number of bags, how many bags
will each store receive?

Answer:

11. A delivery truck can carry 6,236 boxes of vegetables. If each
store needs 4 boxes, how many stores can the truck deliver to?

Answer:

12. A farmer has 8,932 apples to distribute equally among 7
stores. How many apples will each store receive?

Answer:




13. A hotel has 1,345 guests and wants to divide them equally
among S floors. How many guests will be on each floor?
Answer:

14. A factory produced 2,248 televisions in a day. If each box
contains 8 televisions, how many boxes can be made from the total
production?

Answer:

1S. A store has 7,686 bottles of water to distribute to 9 stores. If
they want to give each store an equal number of bottles, how many
bottles will each store receive?

Answer:

16. A delivery truck can carry 4,671 boxes of fruits. If each store
needs 9 boxes, how many stores can the truck deliver to?

Answer:




17. A farmer has 6,756 eggs to distribute equally among 4 stores.
How many eggs will each store receive?
Answer:

18. A hotel has 1023 guests and wants to divide them equally among
3 floors. How many guests will be on each floor?
Answer:

19. A factory produced 3,720 cellphones in a day. If each box
contains 8 cellphones, how many boxes can be made from the total
production?

Answer:

20. A store has 8,240 boxes of cereal to distribute to S stores. If
they want to give each store an equal number of boxes, how many

boxes will each store receive?
Answer:




